Efficiency vs dr

0.5
0.45

efficiency vs AR
=}
D

©
O w
w

Il + II 1T :IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlI
original
DOM mKFit TT pLW _1H

H
T
|
I

KFI
DOM_mKFit_TT_pL

D8M_m KFit_TT_pLW
1078 1072 107t

1
TP min AR

[ Efficiency vs dr (track,jet) |
§ 0.1
0 0.09
=
o
z 0.08
£20.07
>
20.06
@
o
£ 0.05]
3]
0.04
0.03
0.02
0.0
e

Ratio
N

0.95

-1

1072

=
S
w

1
AR(TP, jét)

Efficiency vs pu

0.5

o] E . T T T T T T
N L TR VO A O
R S A
o R
o) F : : : : : :
O e et s SIS SR &
£ E : : : : :
e R [LERER R L SELE SRR S 1
025 oo fibo |
N i .
20 30 40 50 60 70 80 90 100



	Contents
	Page 1


